M PERMEZERES SV EMRTEORR

. 2k Is T .
sin  mEe| EUE (B8 | BEER | poy. | BEBNES | L. | DTG B er. [WHEO
7 |EH (&8) (1R H1EER T S TR E IsfE
2 & | R 1 S42.9 IHE#E Al H19 0.44 H20 1.02
-1 | & [ R| 2 S42.9 [HE% [ H12 0.25 H15 0.78
4-2 X& | R| 2 S42.9 |[HE#E [ H12 0.25 H15 0.78
<% R 5-1 | #%& | R | 3 S42.9 |E|£=>:$_ it EEa2 H12 0.24 H14 0.78
52 | && | R [ 3 S42.9 |[HEHE THEZ H12 0.24 H14 0.78
6 ®B& | R | 1 S42.9 IHE% [ H14 0.59 H17 0.88
11 BE | S| 1 S51.3 [HE#E it EE Z2 B H22 0.52 H23 1.04
14 Bix | R| 1 H20.6 A%
11-1 | && | R | 3 S51.3 [HE% it =22 B H11 0.4 H12 0.8
11-2 | & | R | 3 S52.3 [HE#E Al H11 0.4 H12 0.8
11-3 | &%& | R | 3 S52.7 B it = A2 B H11 0.4 H12 0.8
12 XE | R | 3 S52.7 [HE#E it =22 B H11 0.34 H12 0.77
&schests 13 #& | R| 3 S52.7 |[HE#E THEZ H11 0.43 H12 0.78
=7 ¥ FIX " 3
18 BE | S 1 S56.2 |[HEHE M= 22 B H19 0.33 H20 0.96
19 ®& | R| 3 S58.11 LA
22 RE R 3 H5.11 AL AE
25 ®& | R| 3 H5.12 FrELAE
17-1 | BK | R | 3 S52.5 |HE#E [ H11 0.38 H12 0.72
1-1 & | R| 4 S46.3 IHE#E it = Z2 B H11 0.31 H12 0.77
-2 | & [ R | 3 S46.9 |[HEHE ifit 5= 22 B H11 0.31 H12 0.77
AR 1-3 x& | R| 3 H17.3 E
9-1 Bk | s | 1 $57.12 A
14-1 | BiK | R | 1 H23.2 FrELAE
9-1 ®B& | R| 2 S47.3 [HE% HEZ H16 0.58 H17 0.88
-2 | & | R | 2 S48.3 |[HE#E THEZ H16 0.58 H17 0.88
REI|hER 10 ®& | R| 3 S48.3 |[HEHE THEZ H16 0.48 H17 0.76
15 ®& | R| 3 H16.5 LA
14 Bi&k | R| 2 H15.3 HEE
-1 | ®&& [ R| 3 S46.3 |[HEHE ifit 5= 22 B H10 0.32 H10 0.8
1-2 XE | R | 3 S46.8 |HE#E [ H10 0.32 H10 0.8
e s 1-3 | & [ R | 3 S46.8 J2E-%: ifit 7= 52 BT H10 0.31 H11 0.79
BRRER -4 | K& | R| 2 H5.1 i
7 B | R| 2 S$13.2 PrEAE
9 BAEX [ R] 2 S13.2 A
11-1 | && | R | 4 S51.3 B it =2 B HO9 0.35 H12 0.79
11-2 | &BE R 3 S53.3 [HE#E M= 22 HO9 0.35 H12 0.79
X crann. 11-3 ]| #%& | R | 3 S53.3 [HE% ifit 2= 52 BT HO9 0.35 H12 0.79
e 15| && | R | 3 S58.2 PrELxe
16 & | R | 2 S58.2 PrELAE
14 B | R| 2 S53.10 [HE#E A HO9 0.82 =




